STATE OF SOUTH CAROLINA

DEPARTMENT OF PUBLIC SAFETY JUVENILE JUSTICE PROGRAMS GRANT APPLICATION Formula Program				
Grant #				
App # T12374				
To Be Completed by Project Director				
Section 1 County Name: 23 - GREENVILLE				
Section 2				
Grant Period: FFY2012				
Begin: 10/1/2012				
End: 9/30/2013				
Section 3 Project Title: Juvenile Facility Equipment				
Section 4				
To purchase equipment for a Juvenile Detention Center in Greenville County. The Juvenile Detention Center will result in incarcerated juveniles being removed from the adult detention center in Greenville County. To accomplish this Greenville County is renovating an existing minimum security work camp. The existing facility lacks the necessary equipment and furnishings to adequately house juvenile offenders.				
Section 5 Type of Application				
a. Initial				
b. Year of Funds : 1				
Other:(Specify)				
c. Reimbursable 💌				
Section 6				
a. Organization Type : County				
Other:(Specify)				
b. U. S. Congressional District 04				
Section 7				
Agency DUNS number*: 077991206 (www.dunandbradstreet.com)				
Has your agency registered with Central Contractor Registration (CCR)?* Yes (www.ccr.gov)				
For Central Contractor Registration (CCR) handbook click here.				
* This data is not required to submit this application but will become necessary for federal reporting requirements if this project is awarded.				

FEIN:	57-6000356	Non-secure of the security of		
Agency Name	Agency Name Greenville County Depart. of Public Safety			
Address	ddress 20 McGee St			
City	Greenville			
State				
		2 g ,		
(Please use the Name/Address above instead of this field) Name and Address of Implementing Agency				
10 Digit Zip	29601-2256			
(Area) Phone #:	864-467-2321			
(Area) Fax #:	864-467-2327			
COMPLETE PAG	ES 2&3 BEFORE	COMPLETING THIS SEC	CTION	
Section 8				
BUDGET				
Use whole dollars only (For example: \$1,50	·			
a. BUDGET CATEGORIES	GRANTOR	AGENCY MATCH N/A	TOTAL	
Personnel \$0	è	\$0		
Contractual Services \$0		\$0		
Travel \$0		\$0		
Equipment \$195	5,535	\$0		
Renovation/Construction	N/A	N/A	N/A	
Other \$4,0	05	\$0		
TOTAL: \$199),540	N/A	\$199,540	
b. PERCENTAGE: For the construction of a permanent juvenile corrections to program cost.	100 % facility, cash match must equ	0% ual 50% of total program cost. Otherwise,	100 % cash match must equal 10% of total	
Section 9	300			
APPROPRIATION OF NON-GRANTOR MATCHING FUNDS	S S S S S S S S S S S S S S S S S S S			
Other (Explain):				
WHOLE DOLLARS ONLY	BUDGET	DESCRIPTION	Page 2	

WHOLE DOLLARS ONLY	BUDGET	DESCRIPTION		Page 2
MATCHING FUN	IDS			
CATEGO	RIES	GRANTOF	CASH In- R N/A Kind 7 N/A N/A	TOTAL
PERSONNEL				
SALARIES	% of Time			
Position Title	On Project	Quantity		

			140	I DO	
	W		\$0	\$0	
		TOTAL SALARIES:	\$0	\$0	
EMPLOYER CONTRIBL	JTIONS (Fringe Bene	efits)			
Social Security & Medicare (FICA)			\$0	\$0	
Retirement			\$0	\$0	
Worker's Compensation Insurance			\$0	\$0	
Unemployment Insurance (on first \$7,00	00 only)		\$0	\$0	
Health Insurance			\$0	\$0	
Dental Insurance			\$0	\$0	
Pre-Retirement Death Benefit			\$0	\$0	
Accident Death Benefit (Police Officers)			\$0	\$0	
Other Employer Contributions (Itemize)			\$0	\$0	
TOTAL EMPLOYER CO	NTRIBUTIONS:		\$0	\$0	
		TOTAL PERSONNEL:	\$0	\$0	
CONTRACTUAL SERVICES: (Itemize - DO NOT include professional fees for doctors, psychologists, etc.) TOTAL CONTRACTUAL SERVICES \$0 \$0 TRAVEL:					
(Itemize-include mileage, airline cost, lodging, per diem, parking, car rental)					
	,		\$0	\$0	
		TOTAL TRAVEL:	\$0	\$0	

USE WHOLE DOLLARS ONLY		BUDGET DESCRIPTION			Page 3
MATCHING FUNDS					
CATEGORIES		GRANTOR	CASH In- N/A N//	1 () ()	AL
EQUIPMENT (\$1,000 or more per Unit): (Itemize - DO NOT USE BRAND NAME Also, DO NOT include leased	,				
ITEM	QUANTII	Y			
2 TB Digital Video Recorder System	QUANTII	\$4,631		\$18	,524
	4 60	····		\$18 \$21	
2 TB Digital Video Recorder System	4	\$4,631). 	,540

Labor to deliver and install 1 washing machines and	4 4 4 .	\$1,500	\$1,500
Portable Radio	15	,	\$17,025
, n	*	\$1,135	* · · · · · · · · · · · · · · · · · · ·
Portable Radio Battery Charger	<u>2</u>	\$858	\$1,716
Emergency Restraint Chair	<u> </u>	\$1,526	\$1,526
Juvenile MugShot System	1	\$15,476	\$15,476
24/7 Intensive Use Officer Chairs	[6	\$708	\$4,248
Office/Housing Unit Computer and Monitor	<u> </u>	\$945	\$5,670
Office desks	5	\$1,400	\$7,000
Office Desk Chairs	11	\$291	\$3,201
Metal Officer Station Desks	3	\$1,500	\$4,500
Student Classroom Desks	30	\$163	\$4,890
Teacher Work Desk and Chair	4	\$1,190	\$4,760
Classroom Whiteboards	6	\$227	\$1,362
Dining/Living Unit Tables	15	\$494	\$7,410
Dining/Living Unit Chairs	60	\$46	\$2,760
Lounge Chairs/Armless	22	\$672	\$14,784
Lounge Chairs/With Arms	22	\$748	\$16,456
Small Lounge Tables	8	\$616	\$4,928
Walk Through Metal Detector	1	\$3,800	\$3,800
Inmate Mattress	40	\$79	\$3,160
Inmate Jumpsuits	90	\$13	\$1,170
Mobile Medical Storage Unit	1	\$4,000	\$4,000
Inmate Property System	1	\$5,000	\$5,000
Rugged Healthcare Tablet	1	\$3,706	\$3,706
Scott Air Pack	1	\$3,000	\$3,000
	TOTAL EQUIPMENT:	\$66,506	\$195,535
	ribe)		
	E	\$0	\$0
TOTAL RENOVATION	ONS/CONSTRUCTIONS:	\$0	\$0
-			# ·
Other (Itemize)			
4 Cleaning Carts	-	\$220	\$880
2 Hand-held metal scanners		\$155	\$310
2 Hand held search mirrors	:	\$36	\$72
was a second of the second of			

4 Computer Printers	\$185	\$740
6 Safety Flashlights	\$121	\$726
Digital Camera	\$160	\$160
Hand Held Video Recorder	\$350	\$350
TOTAL OTHE	R: \$1,286	\$4,005

Page 4

BUDGET NARRATIVE

List items under each Budget Category heading. Explain exactly how each item in your budget (both grantor and match) will be utilized. It is important that the necessity of these items, as they relate to the operation of the project, be established. Dollar amounts must be provided and each specific item must be listed, to include quantity, if appropriate.

South Carolina is presently penalized and losing Federal Formula Grant Funding for failure to meet the Jail Removal Provision of the Juvenile Justice and Delinquency Prevention Act of 2002. The Jail Removal Provision requires the removal of juveniles from adult correctional and detention facilities. Greenville County's authorized Type VI Juvenile Holdover Facility is located inside the adult detention center and is the cause for that failure. Greenville County desires to work toward complete compliance of the Jail Removal Mandate by establishing a Juvenile Detention Center as a separate facility. This initiative will allow the State to meet requirements; aid juveniles and families of juveniles by allowing the juvenile to remain in the County instead of traveling up and down the freeway to a housing location in Columbia.

The initiative involves the closing of the Greenville County Work Release Facility, a Type V Facility, and the relocation of those adult inmates to the Adult Detention Center. The current Type VI Juvenile Holdover Facility will be moved from the Adult facility to the current Work Camp structure. Simultaneously the building will be modified and renovated into a Juvenile Detention Center and reclassified to a Type VII Juvenile Detention Center where juveniles will remain in Greenville County until adjudicated.

The current facility operated as a minimum security work release center lacks the proper equipment to house juveniles. Some equipment already in place, such as security cameras and recording equipment, will need to be enhanced or replaced. Renovating the facility and changing it's mission will require additional offices furniture, computers and day room furniture designed for a juvenile detention environment. The inmate programs staff that were assigned to the building were moved to other offices throughout the facilities. Their furniture, telephones and computers were moved with the staff.

Equipment

- (4) 2 TB Digital Video Recorder System and 60 security cameras These four digital video recorders and 60 cameras will be used to record and store activity and movement throughout the interior and exterior of the facility. Video recording of juvenile facilities creates a safer environment for juveniles and staff. The recorders will cost \$18,524. The cameras will cost \$21,540.
- (1) 35 Lb Industrial Washing Machine This machine is needed to wash jumpsuits, linen and personal clothing of incarcerated juveniles. The washing machine will cost \$8,518.
- (1) 50 Lb Industrial Dryer One dryer located at the facility is less than 2 years old and will remain on site. The second dryer is 13 years old, inoperable and needs to be replaced. The dryer will cost \$3,905.

Labor to deliver and install 1 washing machines and 1 dryer will cost \$1,500.

Portable Radios - For safety and security reasons every staff member assigned to the juvenile facility will carry a portable radio equipped with an emergency assistance alarm. This includes security staff, medical staff, mental health counselors, activities coordinators and administrative staff. Fifteen radios will cost \$17,025

Battery Charger - 2 large battery chargers will be needed to charge extra batteries for the 15 portable radios. The cost of 2 chargers is \$1,716.

Emergency Restraint Chair - At times it will be necessary to deal with combative or suicidal juveniles. As a last resort, the Greenville County Detention Center utilizes a product called the Emergency Restraint Chair. This device is used by a large number of facilities throughout the nation. One is needed in the proposed juvenile facility.

The cost of one emergency restraint chair \$ 1,526.

Juvenile Mug Shot System - Greenville County takes photographs of all incoming juveniles. The mug shot system is a photomanager capture station similar to the two systems currently used for the adult population. The cost for one system is \$15,476.

24/7 Intensive Use Officer Chairs - The building is being renovated into a direct supervision facility. Officers will be posted inside the housing units and a control room. Six chairs will be needed for staff inside the secure portion of the facility. These chairs are designed for heavy duty correctional use. The cost will be \$4,248.

Office/Housing Unit Computer and Monitor - The inmate programs staff that were assigned to the building were moved to other offices throughout the facilities. Their computers and monitors moved with the staff. Six computers and monitors are needed. The cost for six computers is \$5,670.

Office Desks - The inmate programs staff that were assigned to the building were moved to other offices throughout the facilities. Their desks moved with the staff. The cost of five office desks is \$7,000.

Office Chairs - The inmate programs staff that were assigned to the building were moved to other offices throughout the facilities. Their chairs were moved with the staff. The cost of 11 office chairs is \$3,201.

Officer Station Metal Desks - The proposed juvenile facility will have three separate housing units. Officers will be stationed inside the housing units 24 hours per day. Three metal officer desks will cost \$4,500.

Student Classroom Desks - The renovated facility is designed with two classrooms to accommodate different grade levels. The school district has committed to supply the computers, projectors, and other technology as needed. The facility will be providing the furniture. Thirty desks are needed to furnish two classrooms. The cost is \$4,890.

Teacher Work Desk and Chair - The renovated facility is designed with two classrooms and a teacher's work area to accommodate different grade levels. The school district has committed to supply the computers, projectors, and other technology as needed. The facility will be providing the furniture. Two teacher desks and chairs are needed for the classrooms and two for the teachers work area. The cost is \$4,760.

Classroom Whiteboards - The renovated facility is designed with two classrooms and a teacher's work area to accommodate different grade levels. The school district has committed to supply the computers, projectors, and other technology as needed. The facility will be providing the furniture. Three whiteboards are needed per classroom for a total of 6 whiteboards. The cost is \$1,362.

Day Room Furniture - The day room furniture located in the current Work Release Facility is heavy duty steel detention grade fixtures. The color is dark grey. This furniture is not desirable for a juvenile facility. It is Greenville County's intent to create a softer more conducive environment for those juveniles held in in the new facility. Special consideration was given in the proposal of furniture and color schemes. Minimum State Standards require the number of tables and seating be based on the rated capacity of the living unit. An eating area and a recreational/lounge will be designated in each living unit. Fifteen dining/living unit tables are needed at a cost of \$7,410. Sixty chairs are needed for the dining/living unit tables at a cost of \$2,760. Twenty two armless lounge chairs are needed at a cost of \$14,784. Twenty two lounge chairs with arms will be needed at a cost of \$16,456. Eight small lounge tables are needed at a cost of \$4,928.

Walk Through Metal Detector - A walk through metal dector is needed to screen visitors needing to enter the secure portion of the facility. This would provide a safer environment for juveniles, staff and visitors. The cost is \$3,800.

Inmate Mattress - The mattresses located in the previous Work Release Facility were relocated with the adult inmates. Forty inmate mattresses are needed for the new facility at a cost of \$3,160.

Inmate Jumpsuits - The juvenile inmates will be clothed in different colors than the adult population. It will be further broken down separating Status Offenders from those inmate charged with criminal offenses. Ninety jumpsuits are needed at a cost of \$1,170.

Mobile Medical Storage Unit - This is a mobile lockable cart similar to the ones used in hospitals. It is used to store medical supplies and safely hold a laptop computer. This cart will stay at the Juvenile Facility and be used by medical staff to treat and dispense medications to juveniles. The cost is \$4,000.

Rugged Healthcare Tablet - This is a heavy duty mobile computer used by Greenville County's medical staff members and consists of a small computer and docking station. One is assigned to each of the 3 detention

facilities. The Work Release Facility was scheduled to be shut down during the purchasing of these devices and does not have one. One is needed to be permanently stationed in the juvenile facility. The cost is \$3,706.

Inmate Property System - Personal clothing and valuables belonging to juveniles will be removed and safely stored inside the juvenile facility. Juvenile property will not be stored inside the adult facility. A secure room will be created and a property storage system is needed to store property until the juvenile is released. The cost is \$5,000.

Scott Air Pack - This life safety device is used to evacuate inmates during a fire emergency. There are 3 scott air packs currently located in the old facility. One more is needed at a cost of \$3,000.

Other

Cleaning Carts - The existing facility housed minimum security inmate that had access to all areas of the building. The renovation will create 4 different independent areas. Each area will need it's own cleaning cart. The cost of 4 carts is \$880.

Hand-held metal scanner - The current facility housed minimum security worker inmates. The security level of the building will be increased requiring specialized security equipment. Two hand held metal scanners are needed for cell searches. The cost for 2 scanners is \$310.

Search mirror - The current facility housed minimum security worker inmates. The security level of the building will be increased requiring specialized security equipment. Two hand held search mirrors are needed for facility and cell searches. The cost for 2 search mirrors is \$72.

Telephones - The renovation will create 3 housing units, one multipurpose area, and various offices for administrative staff. Existing telephones are being removed with the departing administrative staff. None of the housing units have telephones. Thirteen phones will be needed throughout the facility after renovations. The cost for 13 phones is \$767.

Computer Printers - The inmate programs staff that were assigned to the building were moved to other offices throughout the facilities. Their computers and printers were moved with the staff. Four printers are needed. The cost is \$740.

Safety Flashlights - This flashlights are needed for emergencies throughout the facility. One will be mounted in each housing unit, two in the control rooms and one in the administrative area. The cost is \$726.

Digital Camera - The camera will be used to photograph incidents that occur in the Juvenile Facility such as injuries, property damage and gang activity. The cost is \$160.

Hand Held Video Recorder - The video recorder will be used to video tape emergencies, negative juvenile behavior and major incidents. The cost is \$350.